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SA BROIE
HE: XM AE(AQ - BAIIAUOILIX/ LY - FAI AUt
Rl ATHAEUUX 22 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AU XIHR &0
20,0003 x2& #3563 1,400
OTIIAL (BHSZEA) 5Ot RFA
20,0002 x12H+83|* 12 1,920
203 =] 1,500 900 600
03 A=A 2= 1,500 900 600
OATHHNH X HR=X
20,0003 38 »253] 1,500
THAOU X SCHIIBEELAMR(EX) 266,970 48,000 218,970
= 99,602
Ea 167,368
401 AIEHIX R0 266,970 48,000 218,970
= 99,602
o 167,368
01 AlZ2H| 230,808 41,000 189,808
OLITH UK 2T 8t d AL
28,851,000 *8IH 2 230,808
= 99,602
Ea 131,206
02 Zeltl 34,500 7,000 27,500
OLITH AL X 2ol d ALY Zelbl
11,500, 0003 x34! 34,500
03 Al S THYI 1,662 0 1,662
OQTHAHOIH Xl ZHTHI1 B G ALS
230,808,000 0.72% 1,662
AITHAHOI X FEHXRAIS (EX) 270,000 200,000 70,000
& 67,500
= 202,500
402 QI+ X201 & 270,000 200,000 70,000
= 67,500
o 202,500
02 QI A2 AL E R (0IHTHE) 270,000 200,000 70,000
OJ A0 X =E4 X
1,800,0002 150 270,000
=S 67,500
s 202,500
ATHEUHUEHX HS XA 12,000 7,200 4,800
< 4,000
= 8,000
402 QI2F X201 & 12,000 7,200 4,800
= 4,000
= 8,000
02 QI A2 AL E (01X THE) 12,000 7,200 4,800
OQTHA0H Al AS KA
600, 0002 *20KW 12,000




FA B

N [PARs i

M XAM S - SAIGLUUXI/AY - S0 Bh
Rl ATHAEUUX 22 A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,000
s 8,000
AAD|BIAIE ES (S ELXI SN /AAEXT) 5,147,297 3,497,497 1,649,800
= 2,112,000
= 18,000
Ea 3,017,297
s3HA 24 & 2 (S3NRTEALSESA) 5,147,297 3,497,497 1,649,800
= 2,112,000
= 18,000
= 3,017,297
sSHAANEE FAE> 805,565 799,765 5,800
= 18,000
Ea 787,565
101 @124H| 174,630 177,630 A3,000
04 JIZtN2 2N S 2+ 174,630 177,630 A3,000
SSEHXY SSHIDISAE 2e| URY 174,630
—SENG2ZX JIsSAH 2| QIR
2,600,000 2F 122 62,400
—SEANS SSEX 22X JIsAE 2
IR XS 2,600,000 x2&H 5,200
—sStAl SZ 8l & AE=E 22l 2R
=] 9,800 *8A[ 2262 x4+ 112 90,239
—4EE= 152,639,000 *11% 16,791
201 Ler23 | 46,104 29,304 16,800
02 S5=24g4l 46,104 29,304 16,800
OSFAS s8HA 22X JIsA S8R
edull 27,120
—JI=sA JDIRS 2,000,0002 123 24,000
—JIBA Bt E 23
160,000 »12& 1,920
—JIsA Stes 100,000& «12& 1,200
Os3HAl (CTV 2E 2l 2,184
—CVHEIE Q=
88,0003 »20H = 128 2,112
—CvEEsld dles
3,000& <2 12& 72
OssHA Jt2s &JIes
1,000,000& «12& 12,000
O22X XHei= BSHEL ZT2H|
200,000 #2042+ 123 4,800
401 AIEHIZ SR THYI 584,831 592,831 /8,000
< 18,000
[Ea 566,831
01 Al&HI 581,120 589,120 28,000
Os3HA AI2E 2 200,000




SA: ZRDIYD
Hu: fMRD|EAlE HE(REY

Ciol =mO ZA U S (=ZXREAARSHEH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—sZO AEE 24 2 &2 I
200,000,000 » 14 200,000
OA+R Jlgatd HE A 60,000
—SS s3I 2= UMY
60,000,000 *1IH 2 60,000
[ 18,000
T 42,000
Os3HXl 243t A (XHH) 321,120
—FESSHA HE=XclE AdFNSBAIE
ZHIA 300,000,000 * 14 300,000
— 28532 HxMeld AFHMBAIL
ZHl AAIE A 320,000,000 *0.066 21,120
03 Al 20HHI 3,711 3,711 0
Os&HA A2 AIE2UH
3,711,000& 3,711
s3HiA=2g & 23,732 23,732
201 ger=2 3| 20,132 20,132
01 AtR2t2|HI 20,132 20,132
Oogegt+=EHI 13,812
—JI=A EIIAE tE2AC| Y =2
220,000 122 2,640
“OISAL AYAIE QRTINS 248
220,000 x 122 2,640
—s3HA AIR2e| HIS 72
100,000& *x145+52] 7,000
—JI=sA 8501 SRR
63,8003 x2LH* 122 1,532
OSZENEH U B2l S2OHALL)
8,000 3 x 1304 3,120
O22Xt SSHEA 28 423
100,000& #2012 * 122 2,400
OJIZtMZ2T HE HE/AH =&
200,000 x2H +23] 800
202 04| 3,600 3,600
01 2LHOIH 3,600 3,600
SSHAAEE 22EF FA0YI
20,0002 x3&+60 3,600
SSs3HA Sg2etdle HEAIE 2,544,000 1,337,000 1,207,000
= 1,056,000
s 1,483,000
401 A2 HIZL R 0HbI 2,544,000 1,337,000 1,207,000
= 1,056,000
Ea 1,483,000
01 Al&HI 2,544,000 1,337,000 1,207,000
OSSsSHA =2 AEAY
2,544,000,000& x 14 2,544,000
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S FROISD
Hu: EXNRIASS(LBDTHT/ L)

=Rl ENRI ARG (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 2,240 2,240 0
oI S SNRA BRI 2AJAEH
80,0003 x2& x 143 2,240
WRES(FHIIEL) (ZEXXISINL /LA ) 1,130,000 30,000 1,100,000
SBEIES(SSXRAEEALELIA) 30,000 30,000 0
L=PSDNES 30,000 30,000 0
802 grat=DIE 30,000 30,000 0
03 JIEtEtE =SS 30,000 30,000 0
OSEXNAIZAIBA §F 293 ez
1,000,000 *30&! 30,000
WA XIE 1,100,000 0 1,100,000
SSAAEGANSSEIHEES 1,100,000 0 1,100,000
701 JIEtI HSHES 1,100,000 0 1,100,000
01 JIEt=I AN ES 1,100,000 0 1,100,000
OssNAEEAESEEIH &=
1,100,000,0002 1,100,000
GiiHIel (o8l /oibIgl) 1,500 1,500 0
OHIB(S A IS EIISSLESINH) 1,500 1,500 0
Giid1d| 1,500 1,500 0
801 OfielHl 1,500 1,500 0
01 Lerolblbl 1,500 1,500 0
ogetolgigl 1,500,000 1,500
Za:%_& FHXS XA - ST L 0L XI/0fl L XX 122,200 122,200 0
) 122,200
LHA FEHIS N (EZLHAFHISRNJMNLSE 122,200 122,200 0
31
Jl 122,200
gz LEA FHIA XA (LE) 122,200 122,200 0
7l 122,200
307 el2to| & 27,700 8,720 18,980
Jl 27,700
02 LB HAHE L 27,700 8,720 18,980
Ogda FEHAS FUSKA A
27,700,000 * 100 2 27,700
Jl 27,700
401 Al HIZL S 0HYI 37,800 59,320 A21,520
Jl 37,800
01 AlZ2H| 37,800 59,320 A21,520
2L FEISY SSAEAEY
18,900,000 x2JH 2 37,800
7l 37,800
402 2I2FX=01 & 56,700 54,160 2,540
Il 56,700




FA ZHOIS

A 2lA FHIY X (MY - SAISLOUU X/ 0 XTI RHRIOHE)
Cel: 2iA FEAS N (AL LFHISANAANESESIH)
: P I
RA - B - SRS - MSAY - BES ofl &ty e
02 QIZEXHE AL E (01X THE) 56,700
OZdEa FEINY FUSXXE A
18,900,000 *37H 2= 56,700

| 56,700




